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4 506 600 000 km

23 1 I 22 R E 2] AL
+d 57900000km| WEE) | 6cm| 0.4AU
=4 108300000 km | [mm) | 1lcm| 0.7AU
x| 149700000 km| [EE) | 15cm| 1.0AU
sH 228100000 km| UEE) | 23cm| 15AU
54 778700000 km| IEE) | 78cm| 5.2AU
Ed 1430100000 km| [EE) | 143cm| 9.6AU
Mg 2876500000 km| EEE) | 288cm| 19.2 AU
ol &g B | 450cm| 30.1AU
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ANTA




2= 2. 37| B

Ej S 1392 000 km |jmm)|  139.0cm
3 4 878 km | ) 0.5 cm
=4 12 180 km | g 1.2 cm
AT 12 756 km | =) 1.3 cm
ofd 6 760 km

=8 142 800 km

E XM 120 000 km | IE=)

M8 50 000 km | =)

ol &S 45 000 km | )
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EHj 2F 1392 000 km )| 25.0 cm
A M 4878 km| 57 900 000 km >l 0.1cm
= 12 180 km| 108 300 000 km :} 0.2 cm
x|+ 12 756 km| 149 700 000 km 0.2cm
S} 6760 km| 228100000 km| "~ 7| 0.1cm
2M 142 800 km| 778 700 000 km ”[—( 2.5 cm
EXM 120 000 km | 1 430 100 000 km < 2.0 cm
r B8] 50 000 km | 2 876 500 000 km A/ 1.0 cm
of| 2+ 45 000 km | 4 506 600 000 km| " 7| 1.0cm 8Q0,

HE D 2%
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(BIEEZZLf)
E 2F MEH| Puerta Instituto
=4 7HH]01| Puerta Hotel Diplomatic
=4 = Pasaje Méndez Vigo
INE S| Entre Méndez Vigo y Bruc
(=] %3 SSF Paseo de Gracia
=/d < 2 X| Calle Balmes
E/d = Pasaje Valeri Serra
H3d = Calle Entenza
off &3 £ Estacién de San§l [ ¥




fures-plangtes

" ® Mercure - Square Bouflers
@ Venus - Place Saint-Martin
@ Terre - Place Saint-Jacques
Y m,,.rl;us-hm—cdh
® Jupiter - Abords de I'Arsenal
6 Sdumtdmlw-"‘mw
@ Uranus - Square Mondon
® Neptune - Square Mangin
9 Pluton - Place SaintThiébau!
.
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2txE 5. A2t 2 Y
® c=300000km/s
X|F2| 8io] EH7X| 7f=0| Z2|= A7
t=7{2| EM / c = 384 000 km / 300 000 = 1.3 s
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Ej 230 =55t=0| Ze2|= AZE...

3 57 900 000 km | ) 3.3 minutes
=7 108 300000 km| )| 6.0 minutes
Al 149 700 000 km| IBE)| 8.3 minutes
2h3 228 100 000 km | I 12.7 minutes
=3 778 700 000 km | | 43.2 minutes
Ed 1 430 100 000 km | =) 1.32 hours
Mg 2 876 500 000 km | == 2.66 hours
off & 4 506 600 000 km | IEE) 4.16




B o = tan o0 = radius Sun / distance to Sun
=700 000/150 000 000 = 0.0045 radian = 0.255°

s K| 2O SHSE Y 20 =0.51°




From Mars
- From Earth
From Venus

o) o g
From Mercury O From Uranus F7om Neptune
From Jupitsr From Saturn
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S7. 4

Efj 2F 1.41 g/cm3 ﬂ[j> Sulfur (1.1-2.2)
=M 5.41 g/lcm3 > Pyrite (5.2)
=M 5.25 g/lcms3 > Pyrite (5.2)
x|+ 5.52 g/lcm3 | | > Pyrite (5.2)
2}/ 3.90 g/cm?3 | | Blende (4.0)
2 M 1.33 g/cm?| IEE) | Sulfur (1.1-2.2)
EM 0.71 g/cm? |[[m=) | Pine wood (0.55)
KMAAM | 1.30 glcm? ”l—g Sulfur (1.1-2.2)
S=A | 1.70 g/cm? | IEE) Clay (1.8-2.5)
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2tF 9: K|+ H = X =

HA HE =S v=2rR/T

X| 50| CHoll,
v =21t x 150 x 10°/365
v =2 582100 kmm/day = 107 590 km/h = 29.9 km/s

(Ef 0| 29 SH2E HERS0I= £EH2
220 km/s or 800 000 km/h.)




2=z 9. HE X=

A HE =71 EWEde| AZ HE8B7 HE:EBL
(days) (km) =5 (km/s) =9 (km/h)
_JI\_ACBI 87.97 57.9 x 106 47.90 172 440
E-Ac;l 224.70 108.3 x 10° 35.02 126 072
X' - 365.26 149.7 x 106 29.78 107 208
§|-Ao'| 686.97 228.1 x 106 24.08 86 688
%AC;I 4331.57 778.7 x 10° 13.07 47 052
EAM 10759.22 1 430.1 x 10° 9.69 34 884
MM 3079910  2876.5x 108 6.81 24 876

o] &t  60190.00 4 506.6 x 10° 5.43




2tE 10 EH SEHIISE D Y

s HEH S8H F=GMm/d% withm=1,d =R.
Thus g =G M / R? where M=4/3n1R°p

s 8E]: g=431GRp




23510 2#H 58 75
FLfed Hr TE A Ltot A
A= fj‘i SIS E
= 2439km| 5.4 glcm? > 0.378 3.70m/s2| 0.37
=38 6052 km| 5.3 g/lcm3 > 0.894 8.87m/s?| 0.86
X+t 6378 km| 5.5g/cm? > 1.000 9.80 m/s2|  1.00
2hd 3397 km| 3.9g/cm3 H[j> 0.379 3.71m/s2| 0.38
=4 71492 km| 1.3 glcm?® H[ﬂ 2540 | 23.12m/s2| 2.36
Ed 60268 km| 0.7 g/lcm? 1.070 8.96 m/s2| 0.91
ke g 25559 km| 1.2 g/cm?® H[QS 0.800 8.69m/s2| 0.88
of| &g 25269 km| 1.7 g/lcm? 1.200 11.00 m/s?|  1.12
= ”[jl> 1.62m/s2| 0.16







%% 12: EE"%‘J—'T'E

] Eki = 15 IIlV2
n

s E =-GM, m/R

pot planet planet
sE =E. +E =0
ec k1n pot
2
= gplanet planet/ planet
-] 2 W= 1 9, —
- -l — planetm/ RPlanet + /2 mv 0
1 2 —
/2 My = gplanetmelanet




212 BE S

= O . —
448 HE T8 | g/ Gru == 5k
M 2 439 km 0.378 [IEE) | 4.3kmis
M 6 052 km 0.894 | IEE) | 103 km/s
K| 6 378 km 1.000 u[j> 11.2 km/s
=] %3, 3397 km 0.379 | I 5.0 km/s
=M 71 492 km 2.540 | I=) 59.5 km/s
EXM 60 268 km 1.070 | ) | 35.6 kmis
X 2+ 25 559 km 0.800 | IEE) | 21.2 ks
5f| 2+ 25 269 km 1.200|IEE) | 23.6 km/s|
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stAy 29| 0f M K EATY
2245l 40| 0|28
0| F|of “b” Qrmps

H O

(G, 51 Pegasi b).

1 Chs 80 = O 2B ¢, q, ¢, f, etc.
(51 Pegasi c, 51 Pegasi d, 51 Pegasi e or 51 Pegasi f). ___
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Gemini/GPI

10 AU
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A HEA 2

o Xl 2F 4.0007H2| /A 7t R AE| R} 11 530071 O] &2
Q| A| s/t 2F 10,00071 2] 2| A| t/d = H o Clj st
£=0| O| R 0|/ SL|C}
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.Jet Propulsion Laboratory (NASA; http://planetquest.jpl.nasa.gov/)

S84t ot BEE 7H AL (1.9 x 1077 kg) X[ 12}
H|=ot 2SS 71 (5.97 X 10* kg).
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2tZ 16: Ef A 2k
EH 2FA| e = Al erd (37| 2
AU km
T8 0.39 4879 40 cm 0.2 cm
=4 0.72 12104 70 cm 0.6 cm
X+t 1 12756 1m 0.6 cm
2h/d 1.52 6794 1.5 m 0.3 cm
=3 ) 142984 5 m 7 cm
EXM 9.55 120536 10 m 6 cm
HES 19.22 51118 19 m 2.5 cm
of| &g 30.11 49528 30 m 2.5 cm
SHE

£14 10000 km = 0.5 cm

Ef Gav, RHOA Ef L] 37| (Bl A)2 35 cm
Bl 1AU =1m




Z2tE 16: 1st 2| A|HHAH S S K}

Upsilon Andromedae | Discovery | Distance | Diameter | Model Model
Titawin year AU km Distance | Diameter
Ups And b/Saffar 1996 0.059 108 000 6 cm 5.5 cm
Ups And ¢/Samh 1999 0.830 200 000 83 cm 10 cm
Ups And d/Majriti 1999 2.510 188 000 2.5 m 9 cm
Ups And e/Titawin e 2010 5.240 140 000 5.2 m 7 cm

S M'HUps Andromedae F8V is at 44 Ly. in And., Ej 29|
1.28H{0| B2 X ZF B A2 45 cm

H2|1AU=1m
X174 10000 km = 0.5 cm




— 1= . €6 odvy cHA1l S OL=
2tT 16: “A| > WA= =K}
Gliese 581 | WAELE | H=dtA e oy o3y x4
AU km L
G1.581 e 2009 0.030 15 200 3 cm 0.8 cm
G1.581 b 2005 0.041 32 000 4 cm 1.6 cm
Gl1.581 ¢ 2007 0.073 22 000 7 cm 1.1 cm
M0 Qs A Gliese 5815 20,5 1.y.742]0f
e M5V & E M2 B 0. 204, Ef Y
P3O E = 10cm

HE|1AU=1m
A1 4 10000 km = 0.5 cm




§I-% 16: vaH|2>=|7|-= XI-_r'--‘g“ 3"*1% nf%O‘I

0

Kepler 62 |HAHE |HERZE | 2ZF 2oty 29
AU km XA
Kepler-62 b 2013 0.056 33 600 56cm| 1.7cm
Kepler-62 c 2013 0.093 13 600 9em | 0.7 cm
Kepler-62 d 2013 0.120 48 000 2cm| 24 cm
Kepler-62 e 2013 0.427 40 000 45 cm 2 cm
Kepler-62 f 2013 0.718 36 000 72 cm 1.8 cm

HE X2 2] FMHE Kepler 62 = 1200 Ly. HO{AH A=
K2v & . 37|= Ef%o| 0.64HH, Ef L RHO 2 = 22

He| 1 AR 1 m
A1 4 10000 km = 0.5 cm
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. o O O -
Trappist-1 |LZAEE [HEHA | XF [m@uzd] 2d 32
AU km
Trappist-1 b 2016 0.012 28 400 1.2cm 1.4 cm
Trappist-1c 2016 0.016 28 000 1.6 cm 1.4 cm
Trappist-1 d 2016 0.022 20 000 2.2 Cm 1.0cm
Trappist-1e 2017 0.030 23 200 3.0 cm 1.2 cm
Trappist-1 f 2017 0.039 26 800 3.9 cm 1.3cm
Trappist-1g 2017 0.047 29 200 4.7 cm 1.5cm
Trappist-1 h 2017 0.062 19 600 6.2 cm 1.0cm
=8| Y= SAE Trappist 1= 40 Ly HE|0f] U=
Msvd &

—
A2 EfF 7|2 012 RHO 2 E 4 ¢y
2| 1AU=1m
A1 4 10000 km = 0.5 cm
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